Four Operations Knowledge Organiser

Key Vocabulary Add and Subtract Whole Numbers
Add Column Method
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Leave

Subtract
Difference between Multiply up to 4-digit by 2-digit Order of Operations

Less

Minus
Take away i' , B | Brockets 10 x (& + 2) =10 x 6 = 60

‘Mentally, Orally 1|z z]
Column Addition 1 5 4  start with the ones. O | order 5+22=5+4=9
Column Subtraction :
Estimate X 2 _ ﬁ 154 = 6 =924 D Division 10+ 6+2=10+3 =13
Inverse operation 9 2 4 154x20=3080
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Solve problems 3.0 8 O 3080+924 = 4004 M ultiplication
Number facts |
Place Value 4 0,0 4 A | Addition 10x4+T7=40+7=47
Complex 1)1 :
: S | subtraction [10+2-3=5-3=2
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Short Division Common Factors Common Multiples
Factors of 48 Multiples of 3

Start from the |
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L1405 5=:12=0r5 _
| 52 #8 5 60 52 =12 =4 rhy Factors of 30 Multiples of 7
612=0r16
Common factors: 1, 2, 3, 6 Common multiples: 21, 42_.
Long Division i Squares and Cubes
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i SR PO 5. ool 5ot Mental Calculations and Reason from Known Facts
L 2:8|0 | Estimation 90-10-9 5090:20=4.5and90+5= 18
| I b3 | Ordar of enlnictio: 16 x 9= 144 s01.6 x9 =144
- | ! | | 50 % 34 x 2 =50 x 2 x 34 = 100 = 34 = 3400
Money: £8.99 + £3 49 = £12 48 4352 + 17 = 256
Use £9 + £3.50 = £12 50 and subtract 2p 50256x18=4352+256 = 4608

Estimate on a number line 3786 + 2850 = 6636

-8 0 B 16 20 24 50 4?“ + 255“ = Tﬁ:'li
L i : T — and 2786 + 3850 = 6636
Subdivide line to estimate: 17 and 8636 - 3786 = 4850







